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ECONOMICS
( Major )
Paper : 5.6

( Development Policy and the Indian Economy )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7

oS frdl epiEd b fope .

(a) What was the literacy rate of India
according to 2011 Census?
03> bR EIRFEE YO SR rHIeN 3|
fesr e 2

(b) Define per capita income.
TR ST ST A |

(c) What is density of population?
GIST g 5 2

(d) What is relative poverty?
e wiewer fF 2

(e) What is meant by Green Revolution?

oieE Reg e & @0
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(2) {rab)

() Mention one cause of industrial (b)) Suggest five measures for reducing
unemployment in India. rural unemployment in India.
S[Req S fARTEA @B PR SCEy 41| SR A PR ZPRAE A AE S
(g9 What is microenterprise? SIS |
g Some [ 2
ks 1R (c) Explain the role of agriculture in India’s
2. Answer the following questions : 2x4=8 economic development.
TS fi 2PePTRd Ted o oot ST TS R ST W =4 |
(a) V\fhat is birthr-ate? Wh?.t was the (d) Explain the measures taken by
birthrate of India according to 2011 Government to ensure food security in
Census? CEdiE
o T4 57 205> TR EIRPEE WO SRS
w1 29 R e 7 sEwe W ! e SR 99 2= 4
(b)) Mention two causes of disguised IR P AL
unemployment in India.. () What were the main objectives of
S AN AR {o1 R SEd 340 Industrial Policy of 1991? Explain.
(c) Mention two objectives of Land Reforms s3> T S A sm SrwrTz &
in India. wfRE 2 A 0|
SRS B FEFS 701 Sy TCEY 9 |

(d) Write down two problems faced by large 4. Answer any three of the following questions :

industries of India. 10x3=30
SRS J28 STTCS! A 2 7B1 AT for | oo il R R e Fefoe Bed fors
3. Answer any three of the following questions : (a) Discuss the trend of growth of tertiary
5x3=15 sector of India during the plan period.
e il 2repTzd i e fefom ed o What are the main causes of increasing
. . : importance of the tertiary sector? 6+4=10
(a) Explain briefly five basic features of
Indian economy. AR FEACRRTS SHSY Gl 393 Jf@d €[
SHEE ST AE e afE s A 91 | G {99 TR gFed A4
RURIEIN IRPIR 162
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(b)

(c)

(d)

(e)
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(4)

Discuss the causes of slow growth of per
capita income of India during plan
period.

AT FEACAS SFOq SR WES T
s FREPTR HCAA] 1 |

Discuss the causes of inequality of
income in India. Suggest some

measures to improve the situation. 6+4=

SRS O SPHON FETPHZ SCEAnAl 4 |
AffEFSO Tafed S g™ 5<% SIsEeeHT |

What are the major barriers to
agricultural growth in India? Discuss.

oeq $d Jfad 44 PR [ &2 S
1 |

Discuss the role of industrialization in
the economic development of a
developing economy like India.

SRed Wd TmeE SANfS 99w e St
TS ST B! ST <547 |

Give a critical appraisal of the industrial
development strategy of India in the
pre-reform period.

URTRIE  IE© SReA S S
CIPETR I FACHAGLEAE JoE SARCT] |
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